O oo ~NOOO S~ WNDNLERE

B WWWWWWWWWWNNNNNNMNNNNRPRPRPRPEPRPRPEPRPERPRERRPRE
CQCOVWWO~NODUDWNPFPOOONOODUMAWNPEFPOOO~NOOOAMAWNDNLEO

clc

beta = 0.99;
alpha = 0.36;
delta = 0.025;

rho = 0.95;
sigmae = 0.007;

mu = 0;

kpoints = 501;

kstat = ((1-beta*(1-delta)) / (beta*alpha))
cstat = kstat™alpha - delta*kstat;

klow = 0.8* kstat;

khigh = 1.2 * kstat;

increment = (khigh - klow) 7/ (kpoints - 1);
kapital = klow:increment:khigh;
kapital = kapital~;

zpoints 9;
multiple = 3;

~ (1 /(alpha-1));

[z, zprob]= tauchen(zpoints,mu,rho,sigmae,multiple);

shock = exp(2);

inv = kapital * ones(l,kpoints);
k = ones(kpoints,1l) * kapital”;

for p=1:zpoints

c(z,:,p) =
end;

u = log(c);

neg_c = find(c<0);
u(neg_c)= -1el0;

tolerance = le-4;

shock(p) * k

.~ alpha - inv + (1-delta) * k;



a1
42
43
a4
45
46
a7
48
49
50
51
52
53
54
55
56
57
58
59
60
61
62
63
64
65
66
67
68
69
70
71
72
73
74
75
76
77
78
79
80

valu
comp

e = log(cstat)*ones(kpoints,zpoints) /(1-beta);

arison = ones(kpoints,zpoints);

while max(abs(comparison)) > tolerance

end;

peri
sO =

Evalue = value * zprob-;

for m=1:zpoints

W(:,:,m) = u(:,:,m) + beta * Evalue(:,m)*ones(1,kpoints);

end;

[Tvaluel,Tpolicyl] = max(W);
Tvalue(:,:) = Tvaluel(l,:,:);
Tpolicy(:,:) = Tpolicyl(ld,:,:);
comparison = Tvalue - value;
value = Tvalue;

policy = Tpolicy;

ods = 1000;
1;

[chain,state] = markov(T,periodes+1,s0,z");

[unu

kind
ksim

for

end
ysim
csim

for

end

sed, zind] = max(state);
(1) = (kpoints+1)/2;
(1) = kapital(kind(1));

i=2:periods+1

kind(i) = policy(kind(i-1),zind(i-1));

ksim(i) = kapital(kind(i));

= exp(z(zind)) * ksim .~ alpha;
= ysim - invsim;

i=l:periods

invsim(i)= ksim(i+l) - (1-delta)

* ksim(i);
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figure(l)
plot(ysim);
xlabel ("periods”®)
ylabel ("output®)

figure(2)

plot(csim);

xlabel ("periods*®)
ylabel ("consumption®)

figure(3d)
plot(invsim);

xlabel ("periodes*®)
ylabel (" investment”)



